Cuctema meHepxMeHTa Kavectsa (CMK) Quality management system (QMS)
000 «Bons» cepTuduumposaHa of LLC «Volya» is certified
Ha COOTBETCTBUE for compliance with

Tpe6oBaHUAM standard of
cTaHgapTa - 1SO 9001:2008 -
1S0 9001:2008 a 5 a 5

CeptuduumpoBaHo Certified by
Pycckum Peructpom ® Russian Registry

KOMMDODAHMUKA

BONA

NMPOU3BOACTBOTENNULY

D®OPTO4YKA

mopaenb 2017

SMALL WINDOW

design 2017

ana Tenamubl «AAYHAA-CTPEAKA»
for the greenhouse «DACHNAYA-STRELKA»

TexHU4yecKun nacnopr
Technical certificate 2-3

UHCTpYyKLMS No cGopKe cTp./page
Assembly manual 4-7




TexHMYecKM nacnopt

COG6OpKy M aKcnayaTauuio GOPTOUKHU cliefyeT OCYLLECTBIATbL CTPOro B COOT-
BETCTBMM C MHCTPYKLMEN U NpaBuiamMMu 3KCrulyaTalumu, U3JI0KEHHbIMU B

[— = TeXHU4YeCcKoM nacnoprte. TexXHW4€CKUIK NacnopT 06A3aTesIbHO COXPaHUTDb.

OnucaHue
dopToyKa npeaHasHavyeHa ansg NPoOBETPMBAHMSA TEMNUL,. YCTaHaBNMBAETCS TONbKO

B Tennuuy «davyHasa-Ctpenkar». Kapkac ¢pOpTOYKM U3rOTOBNEH N3 OLIMHKOBAHHOM CTa-
1 1 cobmpaeTcsa ¢ MOMOLLBIO BUHTOB U raek. lNMokpbiTe GopToUuKKM obecneymBaeTcs
Bblp€3aHHbIM U3 TENMLbI NONMKapboHaTOM. B KOMNIEKT GOPTOYKM BXOAAT BCE He-
06X0ANMbIE 3N1EMEHTbI KPEMNEHMS.

NMpaBuna akcnayatauum
Mepen Havyanom akcnayataunn GopTovKa A0NKHa 6biTb CO6paHa M yCTaHOBMIEHA B
Tennuue B COOTBETCTBUM C MHCTPYKLMEN.
dopToYKa He AosIKHa NoaBepraTbCs BO3AENCTBMSAM, KOTOPbIE MOTYT cO34aTh OCTa-
TOYHblEe AedOpMaLIMM KapKaca 1 NOKPbITHS.

lapaHTUiiHbIEe 06A3aTeNbCcTBa

CpoK NpeabaBAEHUSA MPETEH3UIM — 12 MEeCALEB CO AHS MOKYMNKK.
lapaHTUIHbIE 06A3aTEALCTBA HE PACMPOCTPAHSIIOTCA Ha CAyYau:
1. ycTaHOBKa GpOPTOUKM C HapyLIEHWEM TPEBOBAHWUIA MHCTPYKLMK
2. HapyLleHWe NpaBUA IKCMNAyaTaLUK
3. yparaHbl, Apyrue CTUXMhHble BEACTBHUS.
[aTa nsrotoBneHus:
MpeanpusTue - narotoButenb: 000 «Boaar»
141983, r. AybHa MockoBcKkoi o6AacTu, nep. CeBEPHbIN A.8.
MpeanpuATHE - M3rOTOBUTEAb HECET OTBETCTBEHHOCTb 3@ KAYECTBO MPOAYKLUMK B COOTBETCTBUM C TK PO.
MpeAnpuUaTME OCTABASIET 3@ COOOM NPaBO Ha BHECEHUE U3MEHEHWI B KOHCTPYKLMIO GOPTOUKM.

Perform assembling and operation of the small window in strict accordance
with the manual and operating rules stated in the technical certificate.
= = Please keep this technical certificate for further reference.

Description

The small window is designed to ventilate greenhouses. It is installed only in the
greenhouse «Dachnaya-Strelka». The frame of the small window is made of galvanized
steel and is to be assembled with screws and nuts. The covering of the small window
is provided by polycarbonate, remaining from the greenhouse covering. The small
window kit includes all the necessary fastening elements.

Operating rules

Before operating the small window must be assembled and installed in the
greenhouse in accordance with the manual. The small window should not be exposed
to effects that can create permanent deformation of the frame and coating.

Warranty liabilities
Claim presentation period is 12 months from the date of purchase.
Warranty liabilities do not apply to cases of:
1. the small window installation with violation
of requirements of the manual.
2. violation of the rules of operation.
3. floods, hurricanes and other natural disasters.
Date of manufacture:
Manufacturer: VOLYA LLC
per. Severny, 8, Dubna, Moscow region, 141983, Russia.
The manufacturer bears responsibility for quality of products in accordance with RF CC.
The manufacturer reserves the right for the small window engineering design changes.

Technical certificate

KomnneKrauusa getanbHas

ailed parts list

“marking | view "denomination ___|iength, m |  a-ty, pes
1-i naket/ 1-st package

1] 1 [& [Rmeen oo | 2
2 2 = f\lﬁ’g a 0,27 2
2 3 [ & |Eeoemeae | os | s
4 4 & g,ilzlgaggéaonnba?onbmaﬂ 0,88 1
5 . A ) \I;vai)rczesgt):)%quM ynop 0.4 1
6| - = Wire extender o 031 | 1
- | A [mssmree [ om | o
| - | M |iemercesares | oo

) I I e e

2-i naket / 2-nd package
10 A FTT 'éﬁgﬁ]‘”‘a 0,5 1
w3 o :
2 @ Washer 6
13| W Serow M50 46
14 | s Serow M5x35 6
15 | ===m) Serow Msxd5 2
16 ® NN 37
17 < Locknuthds 2
18 ) e Top hinge 2
19 & Botton hinge 2
20 ggg{gh tape .
21 v Fture 2
3



1. Co6epute KapKac GpopToHKkM U3 aetanei 1, 2, 3, 4 U yCTAHOBUTE Ha KapKace
HUXHIOO MeTNIO (2 WT.) U Yronok puc.1.

Assemble the window frame from the parts of 1, 2, 3, 4 and place the bottom hinge
(2 pcs.) and the angle on the frame fig.1.

NeTNs HKHAA -~
bottom hinge >

2. BbipexbTe U3HYTPU TEMULBI B NOJIMKap6oHaTe NPsAMOYroibHOE OKHO, KOHTYP
KOTOPOro NpoXoAMT No KpoMKam aetanen 2 n 4B (puc.2). PopToyKM ycTaHaBAMBaIOT-
€S B KOHbKOBOM YacTh BOKOBOro Npoéma KapKaca.

Cut from inside the greenhouse a rectangular window in the polycarbonate, the
contour of which passes through the edges of parts 2 and 4B (fig.2). Small windows
are installed in the ridge part of the lateral opening of the frame.

KOHTYD ™,
/cou ntour*,

3. Ha getanu 2 (KOHbKOBas) YCTAHOBUTE BEPXHIOK METNI0 (MOTPe6yeTcs OTOrHYTh
nonuvkap6oHart) (pmc. 3).

On the part 2 (ridge) install the top hinge (it is needed to unbend polycarbonate)
(fig. 3).

neTns BepxHsk
top hinge

4. O6pexbTe NoNMKapboHaT MO KOHTYPY GOPTOYKHM, COBI0Aas OTCTYMbI (PUC.4).
Cut polycarbonate along the contour of the window, keeping the indentation (fig.4).

10MM

3aKpenuTe Ha Kapkace GOPTOYKM MONAMKapOoHaT ¢ MOMOLbIO MAaHOK No puc.5.
Mpun 3aKkpenneHnn nonnkapboHaTa cobaoganTe NpaBuiIo oOpuUeHTaLmn noaMKkapbo-
HaTa. [ToBEPXHOCTb C 3alUMLWEHHBIM CNOEM AO0IKHA OblTb 06paLLeHa HapyKy (K CONMH-
uy).

Fasten polycarbonate on the frame of the small window with the help of cleats in
accordance with fig. 5. While fastening the polycarbonate, observe the polycarbonate
orientation rule. The surface with the protected layer should be facing outward
(towards the sun).

njaHKa ropusoHTanbHas
horizontal cleat :



5. YctaHoBMTE NO KOHTYPY Bbipe3a ynaoTHUTENb, HageBas
€ro Ha cpes nonunkapboHaTa. Kpas BepxHero ynnoTHuTens
HYXXHO BbIMYCTUTb 3@ KOHTYP Bbipe3a, Ansl 0TBOAA AOXAEBON
BOAbI. 15 3TOro cpesaTtb YacTb YNIOTHUTENS C 060MX KOHLIOB
(punc.6).
Place the seal on the contour of the cut, putting it on a cut
edges of the top seal need to be released outside the cut-out contour to drain the rain

“lian6a
washer

BUHT M5x35
screw M5x35

YNNOTHUTENb

seal Puc.6
Fig.6 .| I

MNoBepx KPOMOK YNJIOTHUTENS, NPUSIEratloWwmnx K NoniMKapboHaTy CHapy»Ku, HaKNenTb
CKOTH.

On top of the seal edges, adjoining to the polycarbonate outside, stick the scotch
tape.

6. YcraHOBUTE GOPTOUKY, COEAMHNB 06€ YacTW MeTe/lb BUHTAMU C raiKkamu cTo-
nopHoimn M5 (puc. 7).

Install the small window by connecting both parts of the hinges with screws with
lock nuts M5 (fig. 7).

BUHT M5x45 |
screw M5x45

7. Ans ycTaHOBKM PYYHOIO YCTPONCTBA OTKPbLIBAHWS U PUKCALMN GOPTOHKM COCTbIKYITE
3aXXMMaMu MPoBOOYHbIE AeTanu, YCTaHOBUTE UX Ha GOPTOUKY MOCPEACTBOM YrosKa
(puc. 8).

For installation of a manual opening and fixation device of the small window joint
wire parts with fixtures and install them on the small window with the help of the
angle (fig. 8).

< wire stop

NPOBOSIOYHbIN yp,nMHMTenb"
wire extender %

Puc.8
Fig.8

8. OrpaHnunTenbHas LenoyKa Kpenutca BUHTaMu (puc. 9).
The limiting chain is fastened with screws (fig. 9).




KOMMNDAHMA

BOANAd

NMPOU3BOACTBOTENAMUL
MpeanpuaTMe-u3roToBUTENb:

000 «Bons», r. ly6Ha MOoCKOBCKOM 06n1acTu.
Ten/dakc: (495) 598-5-999
www.perchina.ru
e-mail: info@perchina.ru

Manufacturer:

Volya LLC, Dubna, Moscow Oblast
Phone/fax: 8 (495) 598-5-999
www.perchina.ru
e-mail: info@perchina.ru

[aHHOoe pyKOBOACTBO HE MOXET ObiTb BOCMPOM3BEAEHO B Nt060M Gopme LLENMKOM
WM YacTUYHO 6€3 MUCbMEHHOrO pa3peLleHnss KoMnaHuu «Bons»

This manual may not be reproduced in any form in full or partially without written
permission of Volya Company




